New Maths GCSE: A22 - Solving Linear Inequalities

What is the solution to this linear inequality?

xX>6 B x=3

x>3 A x>12

What is the solution to this linear inequality?
=
x=5 B x<5

x>5 B x<-1

What is the solution to this linear inequality?

x o 2 B x>32

x>2 H® x<32

This quiz was created on www.diagnosticquestions.com.

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



What is the solution to this linear inequality?

1
x<36 H x>36

x>4 B x<4

What is the solution to this linear inequality?

% B 2 B x<?2

xX>—-2 B3 x<-2

What is the solution to this linear inequality?
4x —3>5
x> 32 a x > %

B x>2 B x>8

What is the solution to this linear inequality?
5-2x<7
x>1 B x<1

x<-1 W x>-1

This quiz was created on www.diagnosticquestions.com.

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



What is the solution to this linear inequality?

ox+1<4x—7

x<—-4 B x<-3

x>—-3 B x>-4

What is the solution to this linear inequality?
6— X< 2x
x<6 B x>6

B x>2 B x<2

What is the solution to this linear inequality?
X
x>18 H x<18

x>-18 B x<-18

This quiz was created on www.diagnosticquestions.com.

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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